N = 0l & At & Ml A

20213 = =0 &b LS &F

2AM: XL
X ot Mool & =X IR
& otEEd MAA KA (9 ® =)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Xl == 1t 76,461,563 85,831,427 29,369,864
= 25,676,000
< 41,217,563
T 9,568,000
StETHoHOlY ¥ =X& JHXIM L 76,429,700 85,792,900 29,363,200
= 25,676,000
< 41,185,700
T 9,568,000
StEEd MAA MM 41,922,500 62,668,400 A 20,745,900
= 32,354,500
T 9,568,000
StEEE e HE =& 1,013,900 1,019,000 A5,100
201 2et24d] 10,500 15,000 A 4,500
01 At 22l 10,500 15,000 A 4,500
Ox=X&2ecl?ds 294 10,500
202 O4dl 3,400 4,000 A 600
01 = LH 4 1 3,400 4,000 A 600
OGtETHOH M Z ALY XIE B 3,400
308 XXM SO A 1,000,000 1,000,000 0
02 8+nTF= 1,000,000 1,000,000 0
OotEAEE HuWF 3 1,000,000
Nyt (HEH)(HE) 4,380,000 6,000,000 A 1,620,000
< 2,190,000
T 2,190,000
401 AIEHI L 2CHEI 4,380,000 6,000,000 A 1,620,000
< 2,190,000
T 2,190,000
01 A& Bl 3,914,000 5,490,000 A 1,576,000
OAEF XYt FHI (M) 3,914,000
< 1,724,000
H 2,190,000
02 Zeltl 460,000 500,000 A 40,000
OHEHA XLStEFY (HEH 460,000
03 Al S THHI 6,000 10,000 A 4,000
OAEH XYo=& (M) 6,000
Aot (2L ) (M) 66,000 1,161,200 A 1,095,200
T AIEHI 20 66,000 1,161,200 A 1,095,200
01 A& HI 66,000 855,200 AT789,200
OFAX XYstdFH (HEH) 66,000
XNLotE U (HeA) (M) 5,806,000 3,000,000 2,806,000
= 2,903,000
H 2,903,000




SA X%
X ot Mool & =X IR
Hel: otdEd MAH N (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
401 A& H L= H bl 5,806,000 3,000,000 2,806,000
= 2,908,000
T 2,903,000
01 A& HI 5,200,000 2,694,000 2,506,000
OAed XYotE A (HE) 5,200,000
=) 2,297,000
T 2,903,000
02 2teltl 600,000 300,000 300,000
O&ga Xgotd A (ME) 600,000
03 AlE 2 THHI 6,000 6,000 0
ONE® XYgotdEAH (HE) 6,000
Neotd FH (F01&) (M &) 1,076,000 3,000,000 21,924,000
=) 538,000
H 538,000
401 Al HIZ 2018 1,076,000 3,000,000 A 1,924,000
=) 538,000
H 538,000
01 A& HI 700,000 2,694,000 A 1,994,000
OS0l&d X<otdFH (ME) 700,000
< 162,000
T 538,000
02 Zeltl 370,000 300,000 70,000
SOl Xeotd I (MEH) 370,000
03 A& =TI 6,000 6,000 0
OS0l&d XgotdFH (ME) 6,000
NgotEFH (S&)(HE) 1,496,000 2,000,000 A 504,000
= 748,000
T 748,000
401 AlEH 2 2 0hl 1,496,000 2,000,000 A 504,000
< 748,000
T 748,000
01 A& HI 1,140,000 1,694,000 A 554,000
OEA XgotA Il (Ha) 1,140,000
=) 392,000
H 748,000
02 2feldl 350,000 300,000 50,000
OEA X2otdFHl(&E) 350,000
03 Al 2 THHI 6,000 6,000 0
og® XegstE AU (&) 6,000
NeotEZH (a2d)(HE) 1,496,000 2,000,000 A 504,000
=) 748,000
T 748,000
401 Al HIL 2 THY| 1,496,000 2,000,000 A 504,000
= 748,000




2AM: XL
X ot Mool & =X IR
& otEEd MAA KA (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 748,000
01 A& HI 1,140,000 1,694,000 A 554,000
OAYE XLsHa Y (Me) 1,140,000
= 392,000
T 748,000
02 Zeltl 350,000 300,000 50,000
O&dY® XYst&FHI (M) 350,000
03 A& S THHI 6,000 6,000 0
oMYA XIstEFH (XEH) 6,000
XNgotEFH (XA )(HEH) 886,000 3,000,000 A 2,114,000
< 443,000
T 443,000
401 AIEHI L 20 886,000 3,000,000 A 2,114,000
< 443,000
T 443,000
01 A& HI 530,000 2,694,000 A 2,164,000
OSX&E XYst&FHI (M) 530,000
< 87,000
H 443,000
02 Zeltl 350,000 300,000 50,000
O2X& XYt FHI(HE) 350,000
03 Al S HHI 6,000 6,000 0
OSX& Xgota I (&E) 6,000
Aot (HEH)(HE) 250,000 506,000 A 256,000
TAEHIZEUY 250,000 506,000 256,000
01 A& HI 247,500 500,000 A 252,500
oOnEd XgstdFH (e 247,500
03 A& =TI 2,500 6,000 A 3,500
oOoEd XYgstdIH (&E) 2,500
XNgotE A (0tSH) (M EH) 250,000 606,000 356,000
401 AIEHI L 2 CHEI 250,000 606,000 A 356,000
01 A& tl 247,500 600,000 352,500
Ol0l=& XgotaFY (&E) 247,500
03 AlE 2 THHI 2,500 6,000 A 3,500
onts® XYst&E AU (HE) 2,500
NeLStEFB(ME d3X2)(HEH) 606,000 0 606,000
< 6,000
T 600,000
401 AIEHI L 2 CHYI 606,000 0 606,000
< 6,000
H 600,000
01 A& HI 600,000 0 600,000




2AM: XL
M otEMoioeY ¥ =X& IJMXIM2
& otEEd MAA KA (cho &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OM™ E3X7 XLsHEFH(XEH) 600,000
| 600,000
03 A& =2 THHI 6,000 0 6,000
OMA E3X7 XdotAMY (HE) 6,000
ANYstEFG(Leld 4R 7)) (&) 606,000 0 606,000
= 6,000
T 600,000
401 AIEHIZ 28I 606,000 0 606,000
< 6,000
| 600,000
01 A& HI 600,000 0 600,000
oYeld SN XNYotAHY (e 600,000
| 600,000
03 AIE 2 0H bl 6,000 0 6,000
OoYeld EMX 2 NLstEHH (HEH) 6,000
NSt AH (S AHA)(HEH) 606,000 0 606,000
< 6,000
| 600,000
401 AIEBIZ 28I 606,000 0 606,000
< 6,000
| 600,000
01 A& HI 600,000 0 600,000
OEHE XYo=& FH (M) 600,000
T 600,000
03 AIE 2 0H I 6,000 0 6,000
EIHE Kot I (ME) 6,000
NeotE HH (S ) (He) 806,000 0 806,000
< 608,000
| 198,000
401 A& BIZ 201 8I 806,000 0 806,000
< 608,000
| 198,000
01 A& HI 800,000 0 800,000
OEYd XYstE (M) 800,000
< 602,000
T 198,000
03 AIE 2 0HHI 6,000 0 6,000
OEZd XLsEFH (HEH) 6,000
XNLotE U (MsH stSX2) (M) 1,306,000 0 1,306,000
401 Al B2 28I 1,306,000 0 1,306,000
01 A& HI 1,300,000 0 1,300,000
O8SH SIsSX7 XNLotAEHY (XE) 1,300,000
03 AIE 20 HI 6,000 0 6,000




2AM: X2
M. StEMAHME ¥ X3 JrXI ML
SRl GHEE HAUE HA (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Od=EA ISP XNUotEHH| (N EH) 6,000
X erot™ & (o™ THoH ol 2 ) (& &) 21,272,600 40,376,200 A 19,103,600
403 ItXISHM S K201 & 21,272,600 40,376,200 A 19,103,600
01 XX SHMA2E X 21,272,600 40,376,200 A 19,103,600
o= Kot Y (HEH) 1,693,800
OFEM XeotdAH (HEH) 890,000
ONE=EA - AAA X2l ™Y (XEH) 450,000
OYZEA XYoot HHI (M) 3,719,400
Od=2d Xeold AL (&EH) 2,500,000
OAEN ATXP XUSIEFHH| (HEH) 900,000
OATH EXXNP XUotEHH| (N EH) 900,000
OW=A XYoot FH (M) 773,400
OEXEAN 2L P XU FHU|(HE) 1,500,000
OXNEA Xeatd Y (HEH) 977,000
OUHWA KXot AHH (HEH) 420,000
OAMEHA - =UN T|Bol™ AL (HEH) 840,000
OMAE HEIX P XUGHEZH| (HEH) 2,159,000
O MEHIP XLt FH (& E 1,050,000
OXFSEH XotdHHI(HE) 1,000,000
Osgad XNstdEH (HEH) 1,500,000
=X JIXH D € 22235 34,507,200 23,124,500 11,382,700
= 25,676,000
& 8,831,200
otd 22| 23 4,275,200 2,639,500 1,635,700
202 0db] 10,200 12,000 A 1,800
01 2LHOHI 10,200 12,000 A 1,800
OHARA 22l HE XAl 8,500
OGSt B E31IF XA 1,700
207 1R H 2yl 170,000 0 170,000
02 & AR Y| 170,000 0 170,000
OLIXNEER GldEsE 25 170,000
403 ItXISHH S K201 4,095,000 2,627,500 1,467,500
01 AIXISHMA2E X 4,095,000 2,627,500 1,467,500
OXgdta Jl 2,395,000
OMaHCHEl XZotd st=XHIALY 1,700,000
2IIE KA ES(21) 15,776,000 3,000,000 12,776,000
= 15,776,000
403 ItXIHAM S K201 15,776,000 3,000,000 12,776,000
= 15,776,000
01 "X SHMA2E X 15,776,000 3,000,000 12,776,000




SM: XL
X ot Mool & =X IR
el =XE JIXIMD & 2el2s (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=Jtotd |FXE* 15,776,000
= 15,776,000
AFHUHL(21) 9,900,000 13,345,000 A 3,445,000
= 9,900,000
403 MtXISHHE X201 E 9,900,000 13,345,000 A 3,445,000
= 9,900,000
01 XM A2 X 9,900,000 13,345,000 A 3,445,000
O¥F=d EXZE2E @ A4 9,900,000
= 9,900,000
Aot S 2l At 4,556,000 4,140,000 416,000
201 Let24d] 256,000 300,000 A 44,000
01 At 2teltl 256,000 300,000 A 44,000
OHAESX 02 ZFHEI =2 88,000
oO=2gEY ¥ SI++E 168,000
401 AIEHI L 2CHYI 4,300,000 3,554,000 746,000
01 A& HI 4,300,000 3,554,000 746,000
OotdEBUEX 24 2,000,000
OXgstd Jl=H = 1,500,000
OZ3L& XNeotd SEEHAHE =8 800,000
HY2HZH (XI+1t) 31,863 38,527 A6,664
Jl23&dl 31,863 38,527 AB,664
EM29 JI=2Z 4l 31,863 38,527 A6,664
201 et 22,449 25,747 A 3,298
01 At 22l 22,449 25,747 A 3,298
ORAN2Y AIR22ltl 22,449
202 o4l 5,814 9,180 A 3,366
01 = LH 4 Hi 5,814 9,180 A 3,366
FN2E =LY 5,814
203 R =&l 3,600 3,600 0
04 FN2ELRZ=TH| 3,600 3,600 0
©209Q! 0]t 3,600






